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1. (a) Explain the provisions of Section 52 of The Companies
Act, 2013 with regard to utilisation of securities

premium.

(b) The following is the summarised Balance Sheet of X
Ltd. as at 31st March, 2016:

EQUITY AND LIABILITIES ; Rs.

Paid up Share Capital:

50,000 Equity Shares of Rs. 10 5,00,000
each fully paid up

1,000, 10% Redeemable ' 1,00,000
Preference Shares of Rs. 100
each fully called up

Less: Calls in Arrears 1,000 99,000
@ Rs. 20 each
Securitfes Premium 20,000
Balance in Statement of Profit and Loss | 60,000
General Reserve 70,000
Creditors 1,51,000
9,00,000
II. ASSETS
Non-current assets 5,00,000
Current assets (including Cash at 4,00,000
Bank Rs. 90,000)

9,00,000
—
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The redeemable preference shares were redeemed on the
following basis:

1. Of the 50 preference shares, holders of 40 shares paid
the call money before the date of redemption. The
balance 10 shares were forfeited for non-payment of calls
before redemption. The forfeited shares:were reissued

as fully paid up on receipt of Rs. 500 before redemption.

2. Further 4,500 equity shares were issued at a premium of
10% and 2,000. 9%. Debentures of Rs. 10 each were
issued at a discount of 10%.

3. Expenses for fresh issue of shares Rs. 5,000.

4. Preference shares were redeemed at a premium of 10%
and securities premium account was utilised for this

purpose.
5. Holders of 100 preference shares were not traceable.

Show journal entries including those relating to cash.
(5+10=15)

OR

1. (a) Discuss provisions regarding issue of bonus shares as

enumerated under the Companies Act, 2013.

(b) The following balances appeared in the books of the
company on 1lst April, 2015:

P.T.O.
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Rs. o
I iR R e =
12% Debentures 4,00,000 , .
| Td AR Yo
Debenture Redemption Fund 3,00,000 | .
! 7ol a9 10 T I 50,000 IfEEE A - | 5,00,000
Debentures Redemption Fund Investment 3,00,000

w e WA W= A 100 ® AW 1,00,000

Represented by 10% Rs. 3,60,000 secured Bonds of
(Repre ’ 10%@3{&%1000%

Government of India)

|

‘ Ted : 20 T UMY IR W R ¥ 1,000 99,000

On 30th April 2015, the company purchased 10% secured
| e TR S AT

bonds of Government of India for Rs. 60,000 at par.

Annual’ Contribution to Redemption Fund was Rs. 64,000 | gforetfa T 20,000
made on 31st March each year. On 31st March 2016,
’ WY IR B & wuUT X [ -
balance at bank was Rs. 2,00,000 after receipt of interest. ~ 60,000
The company sold thc investments at 80% and debentures | o R ' 70,000
were paid off. You are required to prepare the following | .
accounts for the year ended 315t March. 2016: } e 1,51,000
|

(i) Debentures Account M
(ii) Debentures Redemption Fund Account l I wReaft
(iii) Debenture Redemption thd Investment Account and ' IR =, wiaft 5,00,000
(iv) Bank Account (5+10=15) | e uReqtear (S A Ashg 4,00,000
(E)mmﬁwzom%msz#qﬁaﬁﬁﬁmémﬁﬂ% PAIECE, . ]

WA QT e N areEn BT " | 9.00,000
(@) X ffids @1 31 0 2016 ¥ o AR gerTE e P.T.O.
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TRy #iEE T w1 PR STUR W 9REE R oo,

Q.
1 50 FREF TR ¥ A, 40 JRURA T TR N TG ¥ vy 129% =R —
W o @ W @ M AN 10 IR A AREE A v iy TR o0 006
N e T HE W T B R T A T BT TG dy | M8
1 gREA ¥ TEd 500 T TR ¥ H T W LT TR wR e wfoerr ffr & Fw 3,00,000
fr @ ; (RT ®&ER ¥ 3,60,000 T & UNE W @ 10% @

: yfeffeT et ?)
2. M 4,500 $REA AW 10% TREw | 3K 2,000, 9% T |

RFR A 10T N & REw ¥ 10% €@ W 1@ == R
T

30 aﬁazmsaﬁﬁﬁ%copoon%‘m@mwm
& 10% Sfoed stel A @de foram

gfte A ¥ aifffe aRe™, 64,000 ® T 31.9F & & 99
3. ¥ & Y fRm W 5,000 =T @ W B T 31 A 2016 F @ WA @ A dw A AW
2,00,000 & Al HIN 7 AW A 80% W 99 A Ik R
=1 dEr T feEm w31 W 2016 W W B A9 99 &
forg e 9@ 99R & ®
5. 100 IR IR B uRE w oG A T T 81 AJFF ¥ (i) R¥=R S
aﬁaqﬁﬁﬁaﬁmﬁaﬁauﬁﬁaﬁw@aaﬁﬁ?l

4. IR IR T 10% Rgw | gReE w) Rar @ o 3K
ey S R = @ SR ¥ STAW e Rrr T w

(ii) R~ ufoem fAfr <
Jreran (iii) R~ gfvem R FRw ar ok
(F) = aRfem 203 @ Fatq TR T T X A T F (iv) ¥ Jmm

Pl & @i smendt & Raw @R

2. From the under mentioned Trial Balance of ABC Ltd.,

prepare a Profit and loss Statement for the year ended
31st March. 2016 and the Balance Sheet on that date:

P.T.O.
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Debit balances Rs. Cr‘edit balances ! E
Opening Stock 3,00,000 | Equity share capital [10,00,000
(10,000 shares of
Rs. 100 each)

Purchases 6,09,000 | 5% Debentures 2,50,000
Wages 5,52,000 | Sales 18,50,(@
Discount 15,000 | Creditors 80,(E
Fuel 25,700 | Bank overdraft 1,20,000
Building 7,00,000 | Discount | 1 23,000
Carriage Inward 11,750 | Return outward | 1,000
Sundry Debtors 2,00,000
Goodwill 1,30,000
Short-term 1,50,000
Investments
Plant and 2,50,000
Machinery o
Loose Tools 60,000 ]
General Expenses 1,74,000 R
Bad Debts 10,300 —
Debenture Interest 6,250
(half year upto
30-09-2015) L
Cash At Bank 1,30,000 R

{ 33,24,000 33,24,000.

1863 9
Additional information:

(i) The authorised capital of the company is Rs. 20,00,000.

(ii) Stock on 31.3.2016 was Rs. 3,50,000.

(iii) Depreciate Plant And Machinery by 20% and revalue
loose tools at Rs. 41,000.

(iv) Provide 2% as bad debt reserve.

(v) Final dividend 15% and transfer of Rs. 11,644 to General

Reserve was proposed by the Board of Directors.

(vi) Rate of income tax is 30%.

(vii) Corporate dividend tax to be charged at 20.358%.

(15)

OR

(a) For the year ended 31st March, 2016, the profit of A
Ltd. before tax amounted to Rs.7,20,000. There was a
credit balance of Rs. 4,10,000 brought forward from the
previous year. The paid up capital of the company

consisted of 30,000, 6% Preference shares of Rs 100

P.T.C.
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each and 4,00,000 equity shares of Rs. 10 each. Interim
dividend on equity shares was paid during tlle year at
7 50, The following appropriations were passed at the

annual general meeting of the company:

1. To pay dividend on preference shares.

2. To pay a final dividend of 5% on equity share

capital.
3. To provide for taxation Rs.2,00,000.

4. To transfer 2.5% of current year’s profits to General

Reserve.

5. To provide for corporate dividend tax at 20.358%.

Write up the “Reserves and surplus” to be shown

in notes to accounts.

(b) Explain the intrinsic value method of valuation of equity

shares with example.

(c) The Balance Sheet of X Ltd. is as follows:

1863 11
Particulars Rs. Rs.
IL.LEQUITY AND LIABILITIES:
Shareholder’s funds:
Equity Share Capital 1,00,000
(10,000 Shares of Rs. 10 each)
8% Preference Share Capital 50,000
(5000 shares of Rs. 10 each)
Re‘serves and Surplus 90,000 | 2,40,000
Non-current Liabilities
8%; Debe?ptures 50,000
Current liabilities
Trade Payables 25,000
Short Term Provision: 10,000
Provision for taxation _
Total 3,25,000

II. ASSETS: —
Non-Current Assets
Fixed Assets 1,80,000
Goodwill 10,000
Investments (5% Tax Free 20,000
Government loan)
Current Assets
Trade Receivables 1,00,000
OtPer Current Assets: 15,000
Share Issue Expenses

Total 3,25,000 |

P.T.O.
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Current year’s profit of the company (after deducting
interest on debentures and taxes) is Rs. 31,000. The
market value of the machinery included in fixed assetg
is Rs. 5,000 more. Expected rate of return is 10%,
Compute the value of goodwill of the company at 5

years’ purchase of super profits.

ABC fifiRs & AR 3 7 qewe ¥ 31 A 2016w TR Fw
§f = frr @ 3R TR U dOr FiT

MWe Iw % | BT 3w %
IRPYE wiH 3,00,000 | S IR Ton 10,00,000
(10,000 % @ 100
IR)
waarat 6,09,000 | 5% RI=R 2,50,000
TTgRal 5,52,000 | fagh 18,50,000
T 15,000 | SETRAT 80,000
o 25,700 | e IR 1,20,000
. .
00
T 7,00,000 | seeT ji’_o,,.—
000
aRe 1,750 | A& SEH W0
fafay I=eriRar 2,00,000
]
™ 1,30,000 -
ety e 1,50,000 I
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4T A [ 2,50,000
g SR 60,000
qEE @™ 1,74,000
ST I 10,300
RE=R == 6,250
(e =
30-9-2015 T)
dF ¥ A= 1,30,000

33,24,000 33,24,000
SIS IR OE

(i) =ot = aAferga GO 20,00,000 T 21

(ii) 31.03.2016 @I wi® 3,50,000 & < I

(i) &= qur ¥WA0 W 20% ¥ AEAETE R W YIF SR H
THeAIEHT 41,000 T

(iv) smler = Rod & g w0 ¥ 2% & = Fifw

(v) sfmr st 15% ok PR wewr =& wFr Rad F 1,644

R AW A H g @l

(vi) 3| W =W 30% R

P.T.O.
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(vii) FT ARG F 20.358% forar w1 faazor | T .
[ EfEd AR ey
Jreran
_ SRadt I TS (10 T A 10,000 IW) 1,00,000 -
2. (@) 31 7 2016 B D W W F P ARRes w1 w ogwm 8 FEm R T (10 = 9™ 5000 IW) | 50,000 -
¥ T WM 7,20,000 € N HiT AT 4,10,000 T wH .
. oo s Rt siie s 90,000 | 2,40,000
7§ ¥ R B @ B T A T OO H 6% 9 30,000 N
FRFE TR 100 T 90 3R 4,00,000 SEEE FW 10 T TR R
TR 21 A AW W AARa dw W 9 & IR 7.5% 8% Ra=R 50,000
o T ST N Affd mmw dow ¥ Frafiie R e Jaand
1w fFw T A HUR el Iqan 25,000
| FREE AR W e I FEE T e & for e 10,000
. g 3,25,000
z%ﬁﬁﬁﬁmnﬁmS%aﬁwmﬁ 1L wReaRmt
3.2,00,000 & FAUN D T e wE < IR =y aReaRwEr
I Rt 1,80,000
4 T T R A w 2.5% g Red ¥ sfaRa e
T 10,000
5. 20.358% W W ¥ HTN ow o B fog e &l RW (5% o s e =) 20,000
A W R ¥ fd o Ay R |, et
- AR § e 1,00,000
| mﬁmﬁﬁﬁﬁmmwm' m e ——— AT
() Xtz =1 qow = = wwr 2 | e e 3,25,000

P.T.O.
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FE @ w9 W oA (RFR R R W o wey @
@) 31,000 T Bl R wReARE ¥ WS TR w0 A
7T 5,000 I BN WA TABT R 10% 31 5 7 N @i
mmﬁwmm%w%@wma&m,

A Ltd. agreed to acquire the business of B Ltd. as on 31 March,
2016. The Balance Sheet of B Ltd. as on that date was as under:

11% Debentures

EQUITY AND LIABILITIES Rs.
Authori.sed, Issued and Subscribed Capital
10,000, 12% Preference Shares of Rs. 10 1,00,000
each fully paid up
20,000 Equity shares of Rs. 10 each fully paid up| 2,00,000
General Reserve 20,000
Profit and Loss Account 30,000
1,00,000

Sundry Creditors

1,50,000

6,00,000

ASSETS

B

Land and buildings

2,00,000

Machinery

1,00,000

By

Stock

2,00,000
' /

Sundry Debtors

50,000
/

Cash and Bank Balances

35,000

Preliminary expenses

0
10,000

Debenture Discount

0
s,

.

00,000
L—6—,———‘;
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The consideration payable by A Ltd. wag agreed as under:

(i) The preference shareholders of B Ltq. were to be allotted
14% preference shares of Rs. 1,10,000.

(ii) Equity shareholders to be allotted six equity shares of
Rs. 10 each issued at a premium of 10% and Rs. 3 cash
against every five shares held.

(iii)11% debenture holders of B Ltd. to be paid at 8%
premium by issue of 12% Debentures at 10% discount.

While arriving at the purchase consideration, A Ltd. valued
land and buildings at Rs. 2,50,000; stock at Rs. 2,20,000;
and debtors at their book value. subject to an allowance of
Rs. 2,000 to cover doubiful debts. Debtors of B Ltd., include
Rs. 10,000 due from A Ltd. The machinery was valued at

book value.

It was agreed that before acquisition. B Ltd. will pay a
dividend of 10% on equity shares (preference dividend
having been paid already). Ignore corporate dividend tax
and dividend bank account. Liquidation expenses amounted
to Rs. 5,000 and were borne by A Ltd.

Draft journal entries to close the books of B Ltd. and prepare
Realisation Account and Equity Shareholders Account. Also

(15)

give opening entries in the books of A Ltd.

OR

t
Following is the Balance Sheet of X Ltd. as on 315t March,

2016.
P.T.O.
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——
Equity and Liabilities Rs. | Assets Rs,
5,000, 7% Cumulative 5,00,000 | Goodwill 75,000
Preference Shares of Patents 50,000
Rs. 100 each
1,00,000 Equity Shares| 10,00,000 | Land and buildings 6,00,000
of Rs. 10 each
7% Debentures of 5,00,000 | Plant and machinery 5,50,000
Rs. 100 each (secured Investments (at cost) 60,000
on land and building)
Interest payable to 17,500 | Stock 4,30,000
debenture holders
Loan from directors 1,00,000 | Debtors 4,00,000
(considered good)
Creditors 4,00,000 | Debtors 30,000
(considered doubtful)
Bank overdraft 2,50,000 | Cash 2,500
]
Preliminary expenses 80,000
Profit and loss account| 4,90,000
27,67,500 27,67,500
S
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Contingent Liabilities:

1. Claims for damages pending in the court totalling Rs
50,000 |

2. Arrears of preference dividend Rs. 14,000

The following scheme of reconstruction has been agreed
upon and duly approved by the Court:

(a) The Preference Shares were to be reduced to an‘equal
number of fully paid Preference Shares of Rs. 80 each
and Equity Shares to an equal number of fully paid
Equity Shares of Rs. 2.50 each. '

(b) All intangible assets to be written off.

(c) Stock to be revalued at Rs. 3,80,000 and Debtors
considered doubtful to be written off.

(d) Preference shareholders agreed to waive half of the
arrears of dividends and to receive Equity Shares in lieu
of the balance.

(¢) Debenture holders agreed to take over part of the security
of the book value of Rs. 1,80,000 for Rs. 2,50,000 in
satisfaction of part of their claim and were issued fresh
7% debentures (with floating charge on all assets) in
lieu of interest payable to them and payment of

additional cash of Rs. 1,50,000.

P.T.O.
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(f) The contingent liability for claims for damages pending
in the court of law materialised to the full extent,
However, the company could recover Rs. 40,000 from
those who were responsible for such damages and settled

the rest by issuing Equity Shares.

(g) The directors agreed to convert the loan into Equity

Shates.

Journalise the transactions and preparc Capital

Reorganisation Account

(15)

ATfes 7 B & =gem = 31 ¥ 2016 F ITRE
T R WA 3@ R T o B R w1 g ™ w@

TR oo
RS ik AW <
dfem, iR ik afew ot
10,000, 12% 3feM IR 10 ® =t gofed 1,00,000
, E—
I
20,000, A AR 10 T T Gl 2,00,000
S | e —
= Red 20,000
/
T AR T A 30,000
E—
11% Ra=r 1,00,000
_/
Ry ey 1,50,000
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6,00,000
.

R A 2,00,000
REIR 1,00,000
wich 2,00,000
fafaer IeRar 50,000
g 9 9% ¥ Ay 35,000
IR 10,000
Re=R wcen 5,000

6,00,000

Aﬁﬁﬁgm@ag%ngﬁmgawm:

(i) BfefRs & sftrrr YemenRal = 110,000 & & 14% Sitwm
IR ImaRy fre N

(i) St Sercanfear = 10% M 10 © TR T T A

TERT frg W & sk w@® o W W 3 © THS HY I
AN

i) BRRs @ 1194 fiver okt 1 10% 32 0 12% B
T 8% P Rar W o
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#a ufawe WA iRz T uft R e = w
i ‘ °92,50,00 A=K (‘lﬁ R IZCE (emT W) 60,000
G, Tid & I 2,20,000 & @Téﬂ?rﬁ&raﬁmmm
e w6 W T R W R 2,000 5 g s W IRRE)
war ot wm B iR @ ¥R zm A TR 3 gy ,Eamnﬁ&faﬁ%q 17,500 | ®iew 4,30,000
6.10,ooomﬁalmﬂﬂw1wm@qtmml 30,
=
wmémmﬁ%W%ﬁBﬁﬁ%@m o
: : = T ¥ WO 1,00,000 | 3eriaf
I W (AR T ES B Rar s g 2) 10% sy HooRe
. . NN (St AT )
M FI D AW AR AT FH AR W =T T ARy
W @ 5,000 T FW AN T A RfRE X wev fean SaTiar 4,00,000 | IaTRAT 30,000
wferer
B%ﬁé@%w@fﬁaﬁaﬂ%%ﬁvaﬁavﬁﬁaﬁmm : il
FOTT SR TG A o Rt JeRenRay SR FOR iR IF AR R 2,50,000 | A 2,500
A AT & wel ¥ urfe sfRest SR '
IR & 80,000
rerar
W 3R B o 4,90,000
S X TS &1 31 W 2016 @& w1 gemws Feeiad
| 27,67,500 27,67,500
R st Yy % | wReawt T
it . .
5000, 7% W 5,00,000 | g 75,000
Lo X feRg atm ‘ 50,000 %
SRR Frere P 50,000 A ® A G T
100 T awy 2. SR W R 14000 T FEET S
100,000 Efdt | 10,00,000 | sfit war v 6,00,000 T R P G ® wew@ @ T 2 ol e
W10 6 AT SR ww @ T R
[ em— /
100 % =@ 79 5,00,000 | Haw aw wdw 5,50,000

P.T.O.
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@) SR A B TCTER WA WS A 80 T T e gy
e J ¥ T Y SN IS AR Y TR T gy
¥ 250 T A [0 T IFE IW N W@ Wy

(®) T WO A IS I ¥ e D R weww @
7T ARl S A R AR sk T qreteen S
R =T

(@) v g TRETTE A G WW S o
4. The following are the Balance Sheets of H Ltd. and S Ltd.
(W) T F 3,80,000 T H TR R WO SR dqeRyy as on 31st March, 2016:

H A AFER ge¢ @ Sl Sl H Ltd. (Rs.) | S Ltd. (Rs.)

EQUITY AND LIABILITIES:

(¥) SfFH AR AR § A S SwE ol o s ok

Equity share capital 8,00,000 2,00,000

T W AT G R IR AT FY vaw F SRES AW A o (fully paid shares of Rs. 10 each)
dR B M ) General reserve (as on 1-4-2015) 2,00,000 2,00,000
Surplus 40,000 4.00,000
() Rl o O w S Ee & w7 A 1,80,000 T Trade Creditors 1,60,000 80,000
W A T gfosIfer S 2,50,000 & F oF @Y 9GR8 @ Total 12,00,000 8,80,000
IR I 7w 7% R 3R 3 = & TEaw ¥ W0 AW ASSETS Rs. Rs.
g M| (H‘?f qRaqfaay W I YHR D W«T) 3R ) LMAssets: Tangible 4,00,000 2,00,000
Investments in Equity shares 4,00,000 -

() e ¥ ofe 2 foy @ i @ e SR 2 | Stock in trade 2,00,000 | 1,80,000
T W Y e aw R e w9 A | Trade Receivables 1,20,000 |  4,00,000
¥ 40,000 % A W TE N T afE @ g REeR 3 %k 80,000 1,00,000
S LR - dt S e R Sl 12,00,000 8,80,000

PTO
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Additional Information:

(i) H Ltd. had purchased shares in the subsidiary comp
an
on January 1, 2016. y

(i) Balance of surplus of S Ltd. on 1-4-2015% Was
RS. 1’60’000'

(iii) S Ltd. distributed bonus shares out of general reserve

in the ratio of one share for every two shares held in

February, 2016, but the entry for bonus issue has not

been passed by it yet.

(iv) There was an abnormal loss of goods by fire amounting

to Rs. 30,000 on 1%* October, 2015.

(v) H Ltd. held 18,000 equity shares (including bonus

shares) in S Ltd. as at 315 March, 2016.
f H Ltd. and its

16. Show you
(15)

Prepare consolidated Balance Sheet 0

subsidiary S Ltd. as at 31st March, 20

workings.

OR
i S
ach 18
H Ltd. acquired 32,000 equity shares of Rs. 10 ¢
Ltd. on 01-10-2015 for Rs. 6,00,000. The Bala

s
1-03-2016 were as folloW

the two companies as at 3

nce Sheets of

27
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QUITY AND LIABILITIES | H Ltd. (Rs) | . Ltd. (Rs.
—
Share Capital : 10,00,000 4,00,000
Equity shares of Rs. 10 each
fully paid up
|
General reserve (01-04-2015) 4,80,000 2,00,000
Profit and Loss Account 1,20,000 1,80,000
Unclaimed Dividend E 2,000
Bills Payable - 30,000
Sundry Creditors 4,00,000 88,000
20,00,000 9,00,000
ASSETS H. Ltd. (Rs.) | S Ltd. (Rs.)
Land and Building 4,00,000 4.40,000
Plant and Machinery 6,00,000 3,00,000
?nVeStments (including Investmen 8,00,000 -
n Equity shares of S Ltd.) :
St
R 50,000 30,000
Deb
R 40,000 50,000
Bi ;
| ~1UIs Receivaple 10,000 20,000
Bank
Balance 1,00,000 40,000
Prelimi
Wenses " 20,000
e 20,00,000 9,00,000

P.T.O.




1863

Note: Contingent liability for Bills discounted R, 9
$. 20,000,

Additional Information:

(i) On 01-04-2015 the Profit and loss Account of § Ltd.
showed a credit balance of Rs. 70,000 out of which a
dividend of 10% was paid on 01-11-2015. The dividend
was credited by H Ltd. to its Profit and loss Account,

Ignore corporate dividend tax.

(ii) Creditors of S Ltd. include an amount of Rs. 30,000
for purchase from H Ltd. The goods are still unsold on

31-03-2016. H Ltd. sells the goods at cost plus 20%.

ed in favour of H

(iii) Bills Payable of S Ltd. are all issu
d bills worth

Ltd. Of these bills, H Ltd. got disc

ounte

Rs. 20,000.
_and its
olidated Balance Sheet of H Ltd

Prepare Cons
as at 31-03-2016. Sh

subsidiary S Ltd.
. P

H e ok s ffiee & 81 2016 @ T

EE

29
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/
H fofies(z) | S ffes(z)
/ 4
SRt AR T
/ O
SRt J 8,00,000 2,00,000
(1o & T T I IN)
= Red (14.2015 1) 2,00,000 2,00,000
RIBER) 40,000 4,00,000
FOR & S=eRar 1,60,000 80,000
SIS 12,00,000 8,80,000
TRt T T
W wReufemr
T W W 4,00,000 2,00,000
S s .
w1 RS R ¥ AR 4,00,000
AR ot
\W 200,000 1,80,000
?
EED X A
Al S 80,000 1,00,000
Sty
— 12,00,000 8,80,000
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SR T
(i)Hﬁﬁé@’%]ﬁﬂaﬁm]é%mm%wwm
Al

(ii) s fafes =1 @Y AW 14.2015 H 1,60,000 % m

(iii)sﬁfﬁég%mmﬁa_é?f%aﬁwﬁwﬁtﬁqﬁ%qﬁa
2016 ¥ OIRT & & A W1 IR F o979 ¥ W@ Ry o
Y 9 I A e IJE Inht T wE W

(iv) 1 &R 2015 & FM @ W & HRT g8 AW =)

AR &fd 30,000 ® W FII

(v) H fofids = W s fafides =wa=it % 18000 ShFadt 3R (AWm
IR W fere) 31 W 2016 @ A

H foifics =1 3k Saat wemas S fifics = wdfeed gom ™
31 A 2016 T F IR QI FEAEal ot gefRid i

Al

4. H faf2e ¥ 6,00,000 & % 1-10-2015 =+ S fafics w
# 10 T A 32,000 SRrd AR AT g A1 31-3-2016
T A FP B qer el o

1863
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S H ffs (z)|s RfRs (v)
I

Sfradt 3R T
};—{T,ﬂ : 10 ® A QUi @ 10,00,000 4,00,000
Rl TN

wra Red (01.04.2015) 4,80,000 2,00,000
o 3R B AT 1,20,000 1,80,000
A ATHIE - 2,000
g e - 30,000
fafay S=eIRar 4,00,000 88,000
e 20,00,000 9,00,000
TRefafert H ffes (z) [sfifts (=)
T 3R s 4,00,000 4,40,000
939 IAT A 6,00,000 3,00,000
faw (s e @ R 8,00,000

IR ¥ FRw = o)

i 50,000 30,000
%@ 40,000 50,000
| T R 10,000 20,000
I Ay 1,00,000 40,000
T —

w 2 20,000
i 20,00,000 9,00,000

ol 2




1863 32

Hre ;. wwae A & fow i g @ w20 000,

SfaRed AN

(i) 142015 @ S ffds & @™ R =1 @ ¥ 70,000 ® =
ke Av Ram w2 e | 1-1-2015 T 10% wr
¥ foar mr om wnw H fafids & @ sl el o ¥ e
w0 R @ A HER G e W e e aRw

(ii) s fofies =t ored & H fafids & w@ide = fow 30,000 &t
T wiw ? W 31-03-2016 9% & fS@r wr sw H
fafies we & W ¥ 20% SigEt S I} B

(iii) S fafRe & 3@ o e = HRofRe & v ¥ w0 & &
T ¥ T Ref W H fifde @ 20,000 T Fegl fer 2

H fofits ok geed wems wot S fafes &1 31-3-2010
T T T qo T AR g Sy et TeEe
Edl

> From the particulars given below. prepare cash flo¥

statement as per AS-3 (Revised) using indirect method:

33

1863

Balance Sheets as at 31 March,..

o
EQUITY AND LIABILITIES 2016 2015
Rs. Rs.

Equity Share Capital 80,000 55,000
10% preferenc Share Capital 20,000 25,000
General Reserve 7,600 4,000
Profit and Loss Account 2,400 2,000
15% Debentures 14,000 12,000
Creditors 22,000 24,000
Proposed divident 8,000 10,000
Provision for taxation 8,400 6,000
1,62,400 1,38,000

ASSETS 2016 2015
_wets 80,000 82,000
Mumulated Depreciation 30,000 22,000
— 50,000 60,000
S’“’L 70,000 60,000
Debtors 34,400 15,000
Cash\ 7,000 2,400
*TPaid expenses 1,000 600
e 1,62,400 1,38,000

P.T.0.
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Additional Information: '
[ncome tax paid 5,100
1) Provision for tax made for the year |
@ Yoar Rs. 9,400 Book value of assets sold 222
2) Fixed assets costing Rs. 20,00
(2) Rl 0 (accumulateq Loss on sale of asset -
depreciation till date of sale on them Rs. 6,000) were
sold for Rs. 10,000. Depreciation debited in Profit and Loss Account 24,000
(3) Interim dividend paid during the year Rs. 9,000. | Capital grant received-amortised in 10
Proposed dividend of last year was declared and paid Profit and loss Account
during the year. Ignore corporate dividend tax.
b Book value of investment sold 33,318
(4) New debentures were issued on 315t March, 2016. . -
15) Profit on sale of investments 120
Show your workings clearly. (
Interest income from investment credited 3,000
OR : .
In Profit and loss Account
g and

S a D 1 W oI a bankin

non banking company. Loss Account

: : the year
(b) J Ltd. presents the following information for

ended 31st March, 2016: terest actually paid 13,042
5 Figures in Incregge in working capital 67,290
Rs. LakB® (excmding cash and bank balance)
36,000 Purchase of fixed assets 22,092
SNSHIBER DEIRTE Gas GRIIRAE 10,202 xpenditure On construction work 41,688

Dividend paid P.T.O.
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Grant received for capital projects
18
ot S B Gl 2,400 2 000
Long term borrowings from bank ' 55,866 e
15% ﬁaa'{ 14,000 12,000
Provision for income tax debited in 6.000
Profit and Loss Account At 22,000 24,000
Cash and bank balance on 1-4-2015 6,000 EisUER ISR 8,000 10,000
Cash and bank balance on 31-3-2016 8,000 e & fog e 8,400 6,000
You are required to prepare a Cash Flow Statement as per 1,62,400 1,38,000
S-3 (Revised). 5+10=15 e i
AS-5 (Reviacsy ( ) TRt 2016 = 2015 &
e wReafeEt 80,000 82,000
3 Rr T fao ¥ sgeme R w1 gam S AS-3 (g W : gRE TeaaE 30,000 22,000
& IER g UAE HUT qGR il
L 50,000 60,000
31 A ..T& & gor T }
— 70,000 60,000
S T Jaan 2016 2015 -
34,400 15,000
% . —
I SOy g
00 —— 7,000 2,400
TR IW T 80,000 55,0
® T
o e 1,000 600
: 5
10% SRFmT e o 20,000 25
Q ] 1,62,400 | 1,38,000
000 \ )04, 9y
T Rerd 7,600 et

P. T,
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FRRaE T
L 7@ a§ @ g & A TEE I 9,400 T W T ¥

2 20,000%.3&@1@W3ﬁ (37 R 30 RY o =t whe
6000 € B FeAEIE 10,000 & H ¥ R wm

3. 3@ 9§ 9,000 © SARA @Ay A wEn Tew a¥ Wyl
T AT % e @ iR 39 99 @ femr wam s wnw
T W A A8 gl

4. 31 ¥ 2016 & 7Y Ra=R s fHw ™I
I FEERA H Uelia Sl
Jrerat
5. (%) ¥ ok A T FE D ge T A A T

(‘H)Jﬁﬁéemmﬁzméﬁmgqaﬁ%mﬁﬂm

TN I =
s o T
36,000
W e A uEw REe o
10,202

e o areviy

1863

39
g & fear 5,100
F T uRgufa w1 @A T 222
Reufr At d=9 W B 48

TEE H AW T T o ¥ e W fer 24,000

miﬁnﬁmwmsﬁ?aﬁrﬁéﬁ‘ 10
gRare fRar

+= Y FEE w1 oE T 33,318
Fam =t S W 120

R E R Tl v i |l ol 3,000
Wik == R

T @A A A IR BT o A 12,000

e = Rar @
= A ¥ e T 13,042
T ¥ afe 67,290

P.T.O.
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Wt aReua @ wde 22,099
e W e 41,688
o aRaAeHI & v g Wi o
I ¥ P fe Sur 55,866‘
I W T W & T waer ) 6,000
AT I T Aa ¥ e W Ry w2

THS X SF ¥ I 1-4-2015 = 6,00
T 3R % ¥ AW 31-03-2016 H 8,000

WASQ (TNfEeE) & IqaR s TaE FYT qGR FE
2|
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. (a) ‘The fundamental attribute of corporate personality ig (c) The Articles of a company stated that Mr. A will be the
that company is a legal entity distinct from its members’ financial advisor of the company. The company in its
Explain the statement citing relevant case laws. (5) general meeting passed a resolution to appoint Mr. B in

place of Mr. A as the financial advisor of the company
by altering the Articles of Association of the company.
Explain with reasons whether the company can do so.

()

(b) Discuss the statutory provisions regarding ‘reduction of
share capital’. (%)

(c) With a view to issue shares to the general public, a
shelf prospectus containing some false information was (®) “Fot & Afeded w1 AT AL T8 2 & T =

issued by the company. Mr. X a high net worth investor fafors zoE 2 o I9 @ 9 Eien ” WEH F4 'ﬂﬂfﬁ
received a copy of the prospectus but did not apply for

any shares, The allotment of shares was completed by

the company, A few monthsg later Mr. X bought 1000 (@) ﬁm@ﬁmﬁ%ﬁuﬁmmaﬁﬁ%ﬂmml

shares of this company from the open market at a higher

price. Subsequently, the price of the sharcs fell and (1) wrE SR @ fog @ w S FH P I2 4 HIAT A
Mr. X s0ld these shares at a heavy loss. Mr. X filed a w7 AT GINA A Few Dedaed w W W fan e
case against the company claiming damages for the loss X &, W fr 3o faw o @ PR 2, Twew @ w5
suffered on the ground that the prospectus igsued by the frer Tt # g TEY Bl R @ Re e T e we
B0 AN B FEeA W WA W K @ mn wo wE ar

# Jggd wE W T HAT I AREAT Hifo

company contained a false statement. Referring to the
provisions of the Companies Act, cxamine whether

Mr. X's claim is justified. (5) feet X3 70 F & 1000 IR I A W GH AR A
wig fog) @ ¥ A # Fem iR T ek frer XX i@

OR B FomER T AR W I fan feew X T wh @ fwe

(a) What do you mean by lifting of the corporatc veil 7 o T fear @R 2@ suR W ow @ frg afy & gff
Fxplain the circumstances when the corporate yeil of a At # T w0 B W TR e Ideed ¥ em wae R
C.ompany may be lifted under the order of the court. (5) T Bl w s A @ st w5 v 1 g Wi

we & o wE T R X @ e wm@ifE ? ow |8

(hy Describe the essential steps to be taken for the
incorporation of a company, (3) P.T.0.
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J=AAr
(a) Define Producer Company and explain the objects for
(&) A SERT H IoW A T B T FT 2? I o _ which Producer Company is formed. (5)
<t e T T D T SR e m%m (b) ‘A promoter remains liable for pre incorporation
! contracts’. Critically examine the Statement. (5)

IS S GHar 27

(c) Explain different kinds of reéolutions passed at the

(@) F * P & e So’ W 9 e e oy . iy .
- | general meeting of the shareholders, citing appropriate
' | examples for each. (5)

(M) wR R AR ¥ I B P P ASE @ feiw (%) T FTR A AR AR o T FR A A
FAEHR BN FE ¥ Feex AR v e B Rger e S ¥ wE R R FE SRREE 2013 @ siewe ® TR
2 Br URT Yo% A TH GEEW TE wEH IR FE D TR H Jeo@ o '
aﬂﬁuﬁfﬁwﬁaﬁaﬂ%ﬁﬁﬁmﬁ?’mmmﬁm () & i <) SR SR & e B i ¥ T
R B w e dE w e 2 s o Ry =Eesl w1 Seod il

(ﬂ)‘ﬂwﬁ@m’mﬁmﬁﬁﬁml

2. (a) Define a private company and state the provisions under

the Companies Act, 2013 for the conversion of a private rerat
company into a public company. () : ~
. (m)mmﬁaﬁqﬁﬁmﬁmaﬁ?maﬁﬁaﬁwﬁ%
(b) Define a Government Company. State special provisions G2 R N =T FRE
of the Companies Act relating to Government
Companies. (5) (@) “gadte Fm ¥ TeR At wfaet & g Ko w w @ 21"
) =@ HUT & AR Sd Do
(c) Write a note on ‘Shelf Prospectus’.
(ﬂ)mﬁ&fﬁmméwﬁqﬁﬁﬁﬁwm%maﬁ
OR e T B I g SOl i IgYT KA §Y el

P.1.0.
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3. (a) A company has its registered office at Mumbai in the

state of Maharashtra. For better administrative
convenience, the company wants to shift its office at
Pune in the state of Maharashtra. What formalities the
company has to comply with for shifting its registered

office?

(b) Differentiate between the right shares and bonus shares.

)

(¢) Can a retiring director be reappointed ? Explain the
provisions of the Companies Act in this regard.

OR

(a) What do you mean by ‘buy back of securities” ? Explain
the provisions of the Company's Act, 2013 regarding
(5)

'‘buy back of securities'.

(b) What do you mean by transmission of shares and
distinguish between the transfer and transmission of

(5)

shares.

(c) Write a note on Corporate Social Responsibility |

, ()
(m)wmmmmm?fjﬁﬁ%lwi
yumafer gfaen @ gfte ¥ R s wEiay w qeRg T |

Committee.

& G W A TArERa wer awdt 31 volee e W@
wtaRa w @ g Bl @ aa steaienand gl wel A
27

5)

5)

4.

1864 ¢

(@) 3T IR IR aeE I A AR FwrE
w)w%ﬂrﬁgﬁﬁ%ﬁﬁmﬁgﬁﬁgﬁaaﬂmm%?
g way ¥ wE gt ot waenst @ e @)

orar

w) ‘gl =t A @@l & @ e 87 wfenyfar
UG @Ae ¥ qa9Od won Affmm 2013 N wEenst H
RAT o)

(@) W’ & TR ¥ I FW G B N WA B AL
IR TR ¥ IR wee Hfo

(1) @wo R wafores SeiEfe Wl W Rood Rifeo

(a) State the provisions of the Companies Act, 2013 with
respect Lo qualification and disqualification of Directors.
(5)

(b) S;atc the legal provisions regarding calling and holding
(c) an Annual General Meeting. What are the
onsequences of default in holding of such a meeting

o (5)
(¢) Write a note op Audit Committee, (5)
OR
(a) Distinguigh
o 1gu15h between a whole tin
anaging director. ¢ director e o
(5)
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(b) What is the process of dematerialization of physical

(b) What do you mean by insider trading? State the legal
shares under the Depository System? Can these be

provisions regarding insider trading under the Companieg
t, 2013. | ,
R ) ‘ rematerialized? : (5)
: tal ballot. | -
() Write & note on postat b4 () | (c) Define the term books of account and discuss the
(=) Sy & Anaas AN FAEER ® SR T S provisions for the maintenance of books of account under
2013 T TEEAI W IJeor@ Q| | the Companies Act, 2013. (5)
' OR
(ﬁ)aﬁmmaﬁﬁgﬁaﬁtmaﬂ%%aﬁﬁ
&R B T I T ¥R Y= 2 A ¥ I (2) There are only two members of a company. They are
S _é,? ° also the directors of the company. Both of them are not
@ TR = ’ on speaking terms. Can the company be wound up on
: this ground? Give reasons. (5)
(1) e wlen wffd w fewdh fefam
(b) Examine the salient features of the Depository Act, 1996.
JAqar (5)

(a;) g\nia;m Ry AR I8 fRoe § A ISl (c) Write a note on 'Investor Education and Protection Fund'.
()

mwwﬁ%’?ﬁqﬁ’raﬁﬁuﬂzmsﬁ
(F) SO B T G T A A N EEQ T T FTN R

(@) ‘weRe @R’ ¥ : .
mmﬁ%w%é@aﬁ%mﬁﬂ“ém
MUR TR qe TR S gt 27
Hm)
(@) RO T & st iR W & SRR R

ofn w37 T = v ¥ OReems fea w1 g 27

mpany ! .
(2) What is meant by inability to pay debts? Can a c@ p (1) r-TErE W qR W AR R wT s 2013 ®
be wound up on this ground? FTT RN TR H T A O s @ e
Hm)
P.T.O.

(1) ‘= T wEeR W R faREw

-
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sreqan

() W%W&W%’?&ﬁzﬁqﬁ%'%@%lﬁwﬂ
27 @RoT gRga faRforg

(@) feaicd sfefs 1996 & wHE fRwenst & wig .

(1) ‘e faen s wwewr AR W R fafa
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{. (a) Distinguish between Skewness and Kurtosis. Explaip

various tests of skewness.

() X appeared in three tests of 20, 50 and 30 marks
respectively. He obtained 75% marks in the first and
60% marks in the second test. What percentage of marks
should he score in the third test to make an aggregate

of 60% ?

(c) First four moments of a distribution about the value 4
are 1, 4, 10 and 45. Calculate moments about mean and

origin. (5,5,5)

OR

(a) In a distribution, the first four moments about a value
5 are 2. 10, 40 and 50. Calculate B, and B, and comment

upon the nature of the distribution.

(b) A scooterist purchased petrol at the rate of Rs. 44,
Rs. 45.50 and Rs. 46 per litre during three successive
days. Calculate the average price of petrol: (i) If
he purchased 15, 16 and 17 litre of petrol on three
successive days, (ii)-If he spent Rs. 2200, Rs. 2500 and

Rs. 2600 on three successive days.

561 3

(¢c) Monthly wages paid to workers in firms A and B,

belonging to the same industry gives the following

results :

Firm A Firm B
Number of wage earners 586 648
Average monthly wages (Rs) 5250 4750
S.D. of wages (Rs) 1000 1210

(i) Which firm A or B pays out larger monthly wages ?

(i) Which firm has a greater variability in wages ?
(5,5.5)

(3r) fawmr Sk e (Kurtosis) ¥ =R $Ivw | fRwmr =
faftFT el =1 quie S |

(@) X @ qqe@l - 20, 50, 30 W X Wiy forar | SO weR
AR N 75% I JR T GRG0 X 60% IF I T | IqR
AR Tl ¥ fhew oiF o & = 0% IFw = o

(¥) 9 4 & W99 9K W<@ (Moments) ® 1, 4, 10, 45 Weg

(Mean) W1 ST % AATE (Moments) &) 0T 20T |

JRAU
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(ar) v famRor ¥, 4 5 H W IR AAE (Moments) 2, 1
40, X 50 | Blaﬂtﬁzaﬁmaaﬁmaﬂqﬁamaﬁ;
T & ¥ Rorht i |

(¥) @ IR Ra@l At vw Wl ¥ 244, 24550 aﬂt@ci
7R WX W @A | IR H e A I 0 e |
()uﬁsﬁﬁ?mﬁaﬁtaﬁw 16, aﬁmn«ﬁaﬁ@r—r,

@l (11) R IgT I IR REd = 22200, ?2500 |
T 32600 = R |

(@) ® T AR T, TH & IAT ¥ v, ¥ WRE Al e

T
A B S
TR FAY A B T 586 648 |
e aRE Tl () 5250 4750
gl w1 S.D. () 1000 1210 |

() wF A 3R W B ¥ H e worgd @ T 7
(i) e o & word o e fwer g @ 7 ‘

|

2. (a) A computer while calculating the coefficient of |
correlation between two variables X and Y from 30 |

pairs of observations obtained the following results;

561

3

¥X =120, TX?=600, XY =90, TY2 =250, XY = 356.

It was however, discovered at the time of checking that

it had copied down two pairs as :

X Y |
8 10 |
12 | 7

While the correct values were;

X | Y
8 12
10 8

Obtain the correct value of correlation coefficient.

(b) Explain briefly the additive and multiplicative models of

time series. Which of these models is more popular in

practice and why ?

(c) Twenty passengers were found ticketless on a bus. The
sum of squares and the standard deviation of the amount
found in their pockets were Rs. 2000 and Rs. 6
respectively. If total fine imposed on these passengers
is equal to the to{al amount recovered from them and
fine imposed is uniform, what is the amount of fine

recovered from each passenger ? (5,5,5)

P.T.O.
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OR

(a) A study of examination results of a batch of 20 students

showed the mean marks as 60 and standard deviation‘i

of marks as 5 in the first term. The same batch scored | |

mean and S.D of marks as 70 and 10 respectively in t

the second term. Which term has greater absolute and |

relative dispersion ? Comment on the improvement in |
|

their performance.

(b) Identify the components of time series. Also explain |

|

|
|
|

uses of time series in economic analysis.

|
\

(¢) (i) The median of a symmetrical distribution is 15. If |

(i)

(i)

|
the coefficient of quartile deviation is 2/3, find first |

and third quartile.

“Coefficient of correlation between X and Y is |
0.85 and the regression coefficient of X on Y is -

0.76”, Comment. |

What would be the value of correlation if two |

| regression lines intersect each other at right

angles ? (5,5:5)

(31) Wwamaﬁaaﬁfxaﬁrv%so@ﬁ%w'
R = aRom v g9

561

(¥)

XX =120, ¥X?=600, TY = 90, LY2 =250, XY = 356

e & @ a8 g war fF 3@ A 9N A ea @i
o form o

X Y

8 10

12 7
R

X Y

8 12

10 8

WEEEY ONE D WEl qed W AUAT HIWE |

TR e @ e (Additive) R IO
(Multiplicative) &7 989 ¥ JUI WY | =EER F I Higed
¥ wiF w e At g R w7

TH w6 A 20 A foeT R X1 IS oW A 1@ W a
& W8 3N wEw f=ew wwm 22000 3R T6 A TR S+
A W [ TAE! I W A D WA B D TAE
¥ Wi e (Fine) = Uf@r fraet aWh ?

A4

?.1.0.
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() wzoﬁmﬁ&f%ﬁq%mﬁﬁm (Mean) 60 3k
Fa @ A BAEET 5 W T W A W W D qyg
=1 A 70 IR WS e 10w % | e T ¥ Py
xR foem 3R = 2 7 IS R ¥ g g
i foodt AR |

(@) WW(TimeSeﬁes)%Hﬁfﬁmrﬁﬁ|ww
3 s famemo ¥ wERr W ol S

@) (i) v T B @ e (Median) ® 151 3R
wgte Raem &1 O 2/3 W W AR T
IJgd® T@ i |

(ii) X fR Y B wea weaRE T 085 & A Y
. X & GEHI qOheh - 076 27 [ ot W

(iid) uﬁ%mi@@@@aﬁa@m%mﬂ

F° A FEEEE w1 e BT

. . . he mean
3. (a) 15,000 students appeared in an examination. T

6
. 49 and
and standard deviation of marks Were

ormally
respectively. Assuming the marks tO be T

distributed;

561 9

(i) What proportion of students scored more than 55
marks ?

(i) If in the same examination, grade A is assigned to

students scoring more than 70 marks, what
proportion of students will receive grade A ?

(b) Write a short note on CNX Nifty Index.

(c) The trend equation for quarterly sales of a firm is
estimated to be as;

Y=20+2X

Where Y is sales per quarter in million of rupees, the
unit of X is one quarter and the origin is the middle of
the first quarter (Jan-March) of 2009. The seasonal
indices of sales for four quarters are as follows;

Quarter Seasonal Indices
I 120
II 105
III | 85
1% | 90

Estimate the actual sales for each quarter of 2014.

(5,5,5)

P.T.O.
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561 11
OR (3r) 15,000 Tt wen ¥ wlaferd w1 S w WA (Mean)
(a) The price of a commodity during 2009-2013 is given 48 G Fe 6 St B LR :
below; faaRa 2

Year Price | (i) frem faafidl & sqom ¥ 55 3fF ¥ I W=

2009 100 | &R

i 107 (i) R R e ¥, frw Rl ¥ 70% ¥ aw dw

2011 128 e R SR A ¢ R W @ O el & s

2012 140 T AT T U FH

2013 180

(@) CNX Nifty 9ol W & @Y feoroh forfed |
Fit a parabola Y = a + bX + cX? to the above given

data and estimate the price for the year 2014. (@) v o R e R & forw wgfRy Tt = s R

i T 2
(b) What is secular trend ? Discuss any one method Ofé

isolating trend values in a time series.

Y=20+2X
(c) Between 2 and 4 p.m, average number of phone cal%s SE R Y 2 R R R il ¥, T X 2
per minute coming into the EPBAX of a compary 4 RS T STW § 2009 W W o @ weA (SEd-

. : inute
2.5, find the probability that during one particular mint=
there will be;

)

o fd w1 R @ WeR ageiE B TR 3

(1) no phone calls,

(ii) exactly three calls,

5,5,5)
(iii) at least two calls. ( P.T.O.
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561 ' 561
Aaf ‘
LI a&Teh (®) T FF & EPBAX W 2 3R 4 PM & w7 3taq o
I 120 @it o fAfe 2.5 2, T R v Rl Afe ® a0
11 105 (i) = ®T wA T
11 85 | (i) @wda: 9 Fw
v 90 -

(i) % & ®7 A &

2014 B TS e & A I w1 SR i |

4. (a) Table below shows the average wages in rupees per

HA=AAr week of a group of industrial workers during the year
_ | 2007-2014. The consumer price indices for these years
() 2009-2013 & 99 vE 9EE w e A R 2 with 2007 as base are also given;
aq q1 Year Average wage of workers (Rs) CPI
2009 100 | 2007 1190 100
2010 107 | 2008 1330 107.6
|
2011 128 | 2009 1440 106.6
1 107.6
2012 . 140 | 2010 1570 7
| 2011 1750 116.2
2013 180 |
ﬁ 2012 1840 118.9
2 IR Fiehel A
v waed (Parabola) Y =a+bX+cX | 2013 1890 119.8
l |
e FRA R 2014 D forg T T AT | 2014 1940 120.2
sl
| :
(Et) oo e W‘lﬁ' (Secular Trend) T @7 TR L (i) Determine the rpal wages of workers during 2007-

ﬁqﬁqﬁwwraﬁ#m%%@

aﬁﬁ{qﬂ
TA& @ qOA | 2014.
| P.T.O.
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key ingredients ?

14

(ii) Determine the purchasing power of Iupee f,
€ Io

year 2014 as compared to the year 2007, I the

C e ) hat ; ‘
the significance of this result ? Is

(b) Explain briefly statistical decision theory, What are its
' 115 |

(%,6)

OR

(a) Differentiate between :

(i) Priori probability and posterior probability and

(ii) Independent events and mutually exclusive events.

(b) A food product company is contemplating the

gtof

replace the existing product at much higher price (5, |
of existingj

introduction of a new product with new packagin

or a moderate change in the composition -l
: - all increase I
product with a new packaging at a Sm ¢ o]
. ) s of t
price (S,) or a small change in the composition SCJ
e ; : o increasv
existing except the word ‘new’ with negligible 1
in price (S,). The three possible states of natu
ol . in sa
high increase in sales (N,), (ii) no change 11
and (iii) decrease in sales (N3)- The

department of the company worked out payo
of these strat®

les (N |

ffs i
gies® |
of yearly net profits for each ‘

561

15
— Payoff in Rs.
——S—t;ategies N, N, N,
S, 7,20,000 3,00,000 1,50,000
S, 5,10,000 4,50,000 0
S, 3,00,000 3,00,000 3,00,000

Which strategy should the executive advise on the basis
of :

(i) Maximin criterion,

(i) Maximax criterion, and

(6,9)

(iii) Laplace criterion.

() = & 7€ Aol ¥ a¥ 2007-2014 N SEfE G F TEH

faftre =@ &t wfa v Aoy weifa & 1 21 Sudw

T gIHIH 2007 H MR 9 AFeE Y W T
ag Al Bt N ﬂ?—l’@ (?) CPI
2007 1190 100
2008 1330 107.6
2009 1440 106.6
2010 1570 107.6
2011 1750 116.2
2012 1840 118.9
2013 1890 119.8
2014 1940 120.2

P.T.O.
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16 ) R

(i) =F= & 2007-2014 ¥ weg 561
EUSIEeY
AEE

IR | Tty

(i) 2007 & YoFm 2014 ¥ TR N w7 Ry
WﬂWWwwé? Py

¥) W i
(@) R e Rers (Statistical Decision Theory) o
[ qui |
W | W T = (Ingredients) w1 ¥ 7

(D) T -wewea S e - s

(Independent Events and Mutually Exclusive Even’cs):L
|

(%) ﬁmmmﬁ@a@%qﬁwﬁaﬁ&%ﬁml
ﬁqﬁﬁmmlﬁ%mﬁaaﬁwmaﬁﬁﬁaﬁﬁﬂ?‘:
w%ﬁmﬁam(sl)maﬁwmaﬁmﬁ >

ﬁm(sz)mmmaﬁmﬁ,ﬁam ﬂ

‘W’w
R - R e ¥ gf ww (S,) | I

17

<& e w2 (i) R % 3= 3f& (N), (ii)
e ¥ i aRaeT A8 (N), AR (iii) fsht & fae (N) 1
M%Wﬁw%g&mﬁﬁﬁmﬁﬁﬁmm
.- .

Y 3w T A
T N, N, N,
8, 7,20,000 3,00,000 1,50,000
8, 5,10,000 4,50,000 0
S, 3,00,000 3,00,000 3,00,000

FEAE R W A EE 3R, JmunRa
(i) s Ay
(i) afer feraw Few
(ii) wre@ (Laplace) fsd
(2) An organization is faced with the problem of choosing
one of the three products for manufacturing. The
potential demand for each product may turn out to be

good, fair or poor. The probabilities for each type of

demand were estimated as follows;

p.T.0.
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561
Product Typé of Demand\
Good Fair Poor ] |
A 0.75 0.15 Y|
0.60 0.30 0.10\
C 0.50 0.30 020 |

|
|

The estimated profit or loss for three states of demand1

in respect of each product is given as;

Product Rs. Rs. Rs.
A 35,000 - 15,000 5,000
B 50,000 20,000 (3,000) loss
C 60,000 30,000 20,005)_’ |

Prepare the expected value table and advise thc;

management about the choice of the product.

(b) For a bivariate data, you are give

Z(X—58)=46, Z(Y—58)=9, Z(X_58)2:308

1 the following:

T(Y-58)? = 483, ¥(X-58) (Y-58) = 1093

If the numbers of pair of observations are 7,

the two regression equations. Also ©

coefficient of correlation.

ompu
(6,9

6,

determin®
te the

i
\
|
\
|
|

|
|

561 12

OR

(a) In a class of 75 students, 15 were considered to be
very intelligent, 45 as medium and the rest below
average. The probability that a very intelligent student
fails in a viva-voce examination is 0.03; the medium
student failing has a probability of 0.05; and the
corresponding probability for a below average student
is 0.15. If a student is known to have passed the viva-
voce examination, what is the probability that he is below

average ?

(b) From the date given below pertaining to 66 villages,
calculate the value of coefficient of correlation between

total cultivable area and area under wheat production;

Total cultivable area (hectares)

Area under | 0-500 | 500- | 1000- | 1500- | 2000- | Total
wheat prod. 1000 | 1500 | 2000 | 2500
(hectares)
0200 12 6 - = . 18
200-400 2 18 4 2 1 27
400-600 - 4
—— 7 3 - 14
- S00800 | - 1
- 2 1 4
800-100¢r _
— —~ - 1 2 3
a
ol | 14 29 11 8 4 66
(6,9)

P.T.0.
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(%) WW%WW%%T{%%%%W#

%mwmwm%'awﬁwmm (a) WW(Bivaﬁate)m%ﬁQ,mﬁﬁﬁlﬁdﬂw

S
(Good), 3@ (Fair) a1 iR (Poor) # wed ' |
YHR &l a6 W A A GNEAT SR ST & $(X-58) =46, Z(Y-58)=9, > (X-58)2=3086,
f - S(Y-58) = 483, T(X-58) (Y-58)=1095
EiE R — IR el WS @ wen 7 ¥ d wHHE FHE
feiRe R @ & weewrg NS WO AU
sfearn Sk ELE
Y |
A 0.75 0.15 0.10
B 0.60 0.30 0.10 il
C 0.50 0.30 020 | (1) 75 Frenfia o wen ¥, 15 wgT g A, 45 T TR &

T AN New B A F ) doem B ow gfewm Rard

S T o S e W A A Rt & A% @ .
| AiRTw Rew ¥ Bt B WA A T 0,03, FeAw W P fard

W
F WA AT o WA 005 A IR sww B AT H
SIS 7 7 /:/‘ el BN S w015 N | AR v e A wde
00 | R R s R R L
A 35,000 15000 | T —
’ . | AR D D w B
loss |
B 50,000 20000 | 300024 (=) |
= 000 _J 66 WA F HI A FHA Frg &7 R AE B IR
C 60,000 s000 | 2 5 o . - k
— .aa‘l’ﬁ"\ ~H UTh @ AT Eﬁll%iq |

ol T
memﬁﬁm%wﬂwﬁ
¥

P.T.O.
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A @A AT (FFRAW)
E I | 0-500 | 500- | 1000- | 1500- | 2000- | e
F AT A= 1000 | 1500 | 2000 | 2500
(BeFTE)
0-200 2 | 6 | - | - | - 18
200-400 Z 18 4 2 1 27
400-600 - 4 7 3 - 14
600-800 - 1 | - 2 1 4
800-1000 - - - 1 2 3
Ecl 14 29 11 8 4 i 66




-
%
O

- - - OB TR YRR 5 %3 T SO WPy
DRy O D m‘% Rl R ‘,&4\': N T PG LT S i T RV I8 7o Z
R Retas &3 G 3 T > R4 P 2 Nan £,
AT AR SR A (), RS B I‘Dﬁ‘ T T iz ¥ 3
RN AL W D T R e R
3 A AL

ORERY e [EXN
'\('.}.z“.{"-‘u. RN B AR eSS

TN

S Al e e e iiasd
e g £ 8 2’ ¥4, R
3 SRy RN TR 4

0.0 1}1.0000
0.1 9084
02 | 8187
03 | .7408
04 | .6703
05 | .6065
0.6 | .5488
0.7 | .4966
0.8 | .4493
0.9 | .4066

9900
8958
8106
1334
6636
6005
5434
4916
4449
4025

Ty wue P BRI IS
o A0y Mo Ul
° PR
. "
PO £ 0

ALY A
,- s ‘2
o 5 2

2 36788 13534 04979 01832 .00674 002479

Note. To obtain values of € for other values of A, use the laws of exponents. For example, gedd

(2% (e793% = (13534) (.7047) = .095374
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Standard Normal (Z) Table
Area lhetwgﬂen 0 and z

"o oo | ooz | 603 ,{ 004 [005 | 006 | 007 (e [ 376””“’
) e e o O e N
m 100398 100438 Toou7s” (00517 {00557 [00596 |0.0636 [0.0675 [0.0714 lﬂom
"0z 100793 10.0832 {00871' foo910 00948 0.0987 [0.1026 o.1064  [0.1103 s

fo.:'s 101179101217 0.1 0.1255 |0.1293 0.1331]0.1368 i01406 ',10‘1443 ;01430 FXCC

fo.4 {o is54 [0.1591 |0.1628 101664 ]o.nooso,mg foirm (0’1808 0-1844@1879 —
(05 jo1915| 0.1950 |0.1985 iozow 02054 {02088 02123 0.2157 - 02190{02224
Mis ;02257 (02291 “Jo2s24 J02357 {02890 2422"];):,245’4"”;]0243;4

02517 |02sas
{02764 02794 028*23 02852

| 07 {02580 {02611 [o 2642 {02673 |0.2704 {02734
08 (o 2681 02910 {02939 ‘jb‘z967 Jo2995 fo. 302303051 :03078 10310603133

il

aans o LT

09 ‘0.3159},0.3186 ,10.3212' 03238 [0.3264 [0. 3289 103815 {03340 03365 [0.3369
10 {03413 [03438 %346’1 " [o34s5 [03508 0. 3531 [03554 103577/‘ o359 [azeai
11 03643 {03665 |0.3686 'so 3708 (03729 [0.3749 {03770 {03790 “10.381003830
12" 03845 {03869 R '03907 03925 {03944 03062 [0.3980° 103991 .,,4015”"'”
13 §04032 04049 {04066 F04082 104099io4115 104131 104147 {04 -
14 {04192 04207 104222“ 104236 [o42s1 foa265 [04279 04292 [0430
15 (0433204345 (04357 j{o.437o {04382 ]0.4394 [0.a406  [0.4418 [04a2
16 oassz | foaacs [oaats [oaass (04495 [04505 (04515 |0455 04538 |
A R T T O e e
18 oot lodsss [0dess [0dses (04671 04678 | ”'(HE'O,4693;:_

1 :

0

Jo:

f

19 J04713 (04719 04726 {04732 [04T38{0.4764 [GA1S0 {04756 {0761 04761

|20 04172 104778 104783 04788 [04793 ;‘04793' :;3,10.4393“;%04808 1048120481

2 21 |04821 (04826 ,04830k o484 [o4838 j0asaz [04sds  [04850 o485+ joass7
' 22 {04861 | 04864 :04868 !04871 0.4875 ;04873 1';0'_4381 04884 oass7 [(Msgo

TR Y >

123 l04g93 04896 ,04898 Tloasor 404904;04906 [0.4909 foastt [oasizfoasts

portetotippas
a2
1o st e

24 o o450 ’04922, [o.492s {04527 04929 04931 [0dgaz_[04941049% 0493

25104938 04940 104941 10,4948 10,4949"‘. 04951 04952

T _ 04943 ;0 4945 [o 4946 | |
6 104553 fo.agss 104956 {04957 J04959 (04960 {04961 (04962 04963 [0 ot

Y |0.49¢
I 65 /04966 |04967 r 04968 fEngy foas70 (o foasms {04973 0494

28 504974 R M
. 18 04975 104976 go 4977 }o 4977 {04978 10.4979 [04979 {o 4980 fo"mx

29 0498] 0.4 A A 6
982 [oas82 oz ’0 o 0o fodoms [0 [oas86 (04986

30 04987 04987 o - I ARSI MRS Bt prre
B 4987 404988 ,04988 Io 4989 50,.4939 {04989 !0 49?9,-{,‘_’;--»-«

il e (70
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Bl & o Fdw

1 - @ fed & S R T FriRe e W s s
feriag |
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3. Al we e

4, TE - IR S A B G v o ¥ S, AT o

IR T AN Tk B BT AR | B.T.0.



Part A

(wug ar)

Which component of a computer is called ‘braip’ o
computer and why ? Describe the functions of the distinct

parts of this component.
Or

What are the types of memories available in the computer

(6)

'system ? How are they organized in the hierarchy ?

T TGl H hA A UCHh FFCT I ARASH HEA 8

aﬁtaﬁ?gﬂm%ﬁﬁ?%@%ﬁmmmmh‘

Y |

Irqar

T R T ¥ I qeaTed (Memories) % wa 71 8%
¥ 7 I A ¥ DY @nfda frar o @ 7

- , o ariots ON
Define the hardware. Discuss in detail the classificat1ion

hardware components of a microcomputer.

Or

562

3

What do you mean by operating system ? Discuss the

functions and utilities of an operating system for computers ?

(6)

TSR H R AT | TF AGHFILLL B FENR TCH F
TeRtoT & ERER FU I |

ar

Ve § ¥ SO F SRWE ® 7 FEed B W 99
forarcreRen 3 ITARET &1 F0i RIS |

(a) What advantages does a database system offer over

traditional file systems ? Discuss in detail.
(b) Differentiate between primary key and secondary key.
Or

(a) What is an information system ? Discuss the need of

information system in business.

(b) Discuss the need of information in different managerial

(12)

processes of the organization.

(%) URARE WEE TA D TG TG GF T AN WS R
7 WMEAAl ¥ U ST |

.1,



562 562 5

(a)WW(KeY)ﬁzmwﬁm%' (@) g &, fege & ok e &7 T @ WA F=N
Froran T |

(%) T GO G F R 7 T ¥ G A A S et

i R | (%) ‘Tt ¥ ¥R F wRafa R 317 T R D

(ﬁ)aﬁmﬁﬁﬁ?mmﬁﬁmaﬁmm R AN & T A |

U T | ' (ﬁ)Wﬁﬂ(VoiceMail)WﬁﬂT%?ﬁ?ﬁ?@ﬁﬂ?ﬁH%
77 B9 = 2 7
4. (a) Describe the three basic network topologies used in
Local Area Network (LAN). Part B
(T =)

(b) Discuss the difference between Local Area. Wide Area

d Metropolitan Area Networks.
- ’ 1. “MIS has drawn concepts and principles from a number of

academic disciplines.” Briefly discuss the role of these

Or
disciplines in the development of MIS.

On”.

icati
(2) ‘Internet has changed the outlook of communic
rnet Or

. f Inte
Explain giving advantages and disadvantages ©
What do you mean by transaction process cycle ?
What are the activities involved in a transaction processing

cycle ? (6)

Communication.
ectronic

(14)

(b) What is voice mail ? How does 1t differ from €

mail ?

SIS (LAN)ﬁ'an’iﬂ “MIS ¥ JEumRvg 3k R omes TEig Jgure o wear ¥
(a)%mmwwﬁq et 17 MIS @ fawm ¥ 3 sgamea & e @ quiT

Cai I TR |
‘ P.T.O.
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Adr

R EE] (Transaction) ufhal W ¥ TR W g 37
WWW%WWW%?

2. What do you mean by decision support system ? What are|

the characteristics of a decision support system ? |

|
Or

}

Define executive information system. Discuss the main

objectives of executive information systems. (7 |
oty qwd o ¥ AT F st ® 7 ve Fig e 9 @l
fodwe @ § 7

Al

TEAeed (Executive)ﬁﬂﬂﬁ?aﬁq%?ﬁaﬁﬁ?|qa@ﬂﬁa
T WA B wer Sew e e |

3. Attempt any two of the following:

' - use
(a) Differentiate between data wareho

|

|

|

|

mart. |

tem
(b) Differentiate between HR research SYyS

intelligence systems.

4.

(c) Differentiate between marketing research and marketing

intelligence systems. (12)
e ¥ ¥ ool @ e Rk

() %a%q@msﬂt%amiﬁﬁaﬂﬁiﬁn

(@) HR sig@ur @ 3R HR & & F s i |

(1) R sEae sk R gy 9§ s Aa

Attempt any two of the following :

(a) Explain the need of marketing information systems in

an organization.

(b) What is meant by accounting information system ?

Discuss the main objectives of AIS.

(c¢) Explain the different type of inputs and outputs involved

in management information system. (12)

i ¥ ¥ el @ =1 o) R

(F) & o7 ¥ Rom ao d @ smawmed W oo

He |

P.T.0.
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ot BRE

() Ve GO G W Her SR AR PRl & Rt g
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1. (a) Why is there no market supply curve under condit; s

of monopoly ?

(b) How do you measure the degree of nlonopoly ? What is

the rule of thumb pricing ? Explain Learner’s measure

of monopoly power. (74,7%)

OR

(a) What is first degree price discrimination ? Explain how |
practicing this kind of discrimination can be advantageous |

to a firm.

(b) What is peak load pricing ? How can a public utility
company producing electricity be better off by following

a policy of peak load pricing than one of uniform pricing ?

(Visually and hearing impaired candidate can skip the

diagram) (8,7)

(=) R 6 T ¥ w3 R R R A
e B ?

(@) TERER @ AR T oA DY A 7 S
ot o ST 2 7 TR Wi @ e A S e
HoT |
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() um%ﬁﬁmﬁawéﬂ%?maﬁﬁqﬁﬁm
%ﬁawwmqﬁ%mwﬁmé?

(@) Wﬂmaﬁﬁaﬁvﬁmwéw%?méaﬁwmw
ﬁaﬁmmmmaﬁﬁﬁwﬁrﬁam%uﬁ
ﬁwwm—ﬁaﬁwﬁ#ﬁﬁaﬁmww
e o AR T AT A T 7
(mgumﬁaﬂrwmﬁmaﬁwmﬁmaﬁgﬁgm
%)

2. (a) Explain the contestable market theory ?

(b) In duopolists market, two firms can produce at a constant
average and marginal cost of AC=MC=5. They face a
market demand curve given by P=53--Q. In cournot’s
model if they are profit maximizing firms. Find two
reaction functions and calculate cournot’s equilibrium.
What is the profit of each firm ? Suppose two firms
form cartel to maximize joints profits then calculate the

profit and quantity of each firm. (5,10)
OR

(a) What is price leadership? Explain the model of a
dominart price leader.



563 4

(b) Duopolists face the following market demand cury
e

p=14-Q (where Q=Q, +Q, is total productiop of
both firms) at MC, =MC, =2. Calculate Cournot’g

equilibrium with help of reaction curves. (7%,7%)
() T s REid =t @R i )

(@) YR aR ¥ A W TR stew SR AC=MC=5 @
AT AR TR AR 6 Fehell 8 | IR P=53-Q &

ﬁqmwwﬁmwmmm%,@ﬁtﬁwi
¥ 9R 3 o e B ¥ R s W W T

HWT R HHc G H qRFAT HINT | TAH T Hl
e o9 B3 2 7 WA oo R A W wgew @ &
FHT TA D QoA T ol B A AT T D A
R A A IR AN |

RAr

(%) o e war B 3 7 o S Yar @ Aewr 6 A

HT |

(@) Rsfemata =t MC, =MC, _ o o PR o A

T P=14-Q (=& Q= Q1+Qz7=§?*f3‘?““‘*':‘33‘;?[q”lﬁ
T 2, AR HAT TS 2 | Wﬂﬁﬁaﬁm%ﬁ
AT T UReerT HINTT |
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3. (a) How can we distinguish between risk lovers and
risk averters ? With the help of total utility of money
curve, explain that marginal utility of money will
diminish for risk averters and will increase for risk

lover.

(b) Suppose an investment A entitles an investor perpetual

income stream of Rs. 1000 per annum, it cost him
Rs. 10000 now. Another investment B costs him
Rs. 3500 now and entitles him to income stream
of Rs.1100 after one year, Rs. 2420 after two
years and Rs. 1321 after three years. Which of
these two would you advise him te go for?
Assume that the rate of interest is 10% per annum for

the period. (7%2,7%)
OR

(a) What is the meaning of diminishing, constant

and increasing marginal utility of money ? Show with

help of total utility of money curve and explain what

are
(1) Risk loving person,
(ii) Risk neutral person and

(iii) Risk Averse Person

P.T.O.
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(b) An individual is considering two investments Projects.
Projects A will return a loss of Rs. 5 if conditiong o8
poor, a profit of Rs. 35 if conditions are gooq -
profit of Rs. 95 if conditions are excellent. Project B
will return a loss of Rs. 15 if conditions are poor,
profit of Rs. 45 if conditions are good and a profit of
Rs. 135 if conditions are excellentl, The probability
distribution of conditions are as folldws

Conditions Poor Good Excellent

Probability 40% 50% 10%

I

(i) Calculate the expected value of each project and |

identify the preferred project according to this

criterion.

(i) Calculate the standard deviation of the expected |

value of each project and identify the project
with the highest risk.

ect should a risk-averse

(iii) Which of the two proj (71/2,71/2)

individual prefer ?
23 e w@ (T
for g o
s e @

(&) Sew = IR R felr O o S
Wﬁﬁasﬂﬁwaﬁm%maﬁﬁq
S R ey @l & e T ST
& fow sg S |

563

7

(@) @ <Rfore for e ‘A’ 8 T R 1000 = IR 9 TR

(%)

A T ER B T Fh AT I o 10000 T 2 1 v
aﬁrﬁ%m‘B’ﬁwmﬁrwoo*@aﬁﬁ%aﬁ?B%waﬁ
mnooaa&aﬁzmﬁ,a}a&mzazoﬁ@ﬁha&
T 1331 T @ W UK K T H TF BT 2 | TN O
¥ ¥ AT e o 3T T AW 7w Rw B o
st & fow = @t = 10% Wiy af @ ?

SIEI

HA T EEA, FER SR e S ST @ e o
27 W O R e SR 9 e ¥ Wik fRh ok

(i) R W =

(i) Rew Feear =l

(i) <R R awer =fm

R A R R i w e wR e R

‘A’%st.a%wﬁrmﬁﬁaﬁamﬁmﬁ, 35% @
WW@THU@WMﬁSﬁT%’QWWW
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muﬁwﬁaﬁaﬂﬂélvﬁtﬁﬁm ‘B’ ¥ 15 T = B0 a5

af Tl @@ @, 45 T H N BNT AR e It o
ﬁ;msawwz‘muﬁmﬁmﬁhmﬁm

el deT 38 WER B

e LG ISt | S

Pl 40% 50% 10%

(i) T TRASE B WA W W ARG R

(i) W%ﬁwﬁﬁ’%ﬁwﬁﬁ,ﬁﬁaﬂﬁﬁﬁrw
e Ao 0 7

4. (a) How is the wage rate determined for labour, when labour

. . t
is one of the several variable factors and given tha

: t
there is monopoly in the product market and perfefi

competition in the factor market ?

|
i
|
|
|
|
|
|
|
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(b) For a monopsonist, what is the relationship between the
supply curve of labour and marginal wage curve? Show
how equilibrium wage rate and employment are

determined. (7%4,7Y2)

OR

(a) Write short notes on following :
(i) Marginal Revenue Product (MRP)
(ii) Value of Marginal Product (VMP)

(iii)) Quasi Rent

(b) Explain economic rent. Explain with suitable diagrams

and examples what happens when :
(i) Supply is perfectly elastic
(i) Supply is perfectly inelastic

(iii)) Supply is elastic (7%,7%)

() Wﬁﬁaﬁﬂ%ﬂmmiﬁwﬁr%mwm
TRER wR F F v 2 Sk Rar w2 B g wer &
TR S T A F o et 2 )
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(@) v waeE & fog W%Wr%awﬁwm
@ A ET B 7 W A R R e
W A AR Frefor fear s 2 o

QEWF
“@quﬁ

@

(%) Frfofen = wfer feoafat fofe
(i) WWG&E(MRP) |
(i) &wE See w1 W (VMP)
(i) SR T

(@) suffer fery = e ARG | Suge IR S SeE
® QY G e T Ben ® v

(i) e qﬁa':. AR 8
(i) e . s 3
(iii) w=TE AR B
orth |

5. (a) Show competitive equilib.i"ium with help of the EdgeW 1

Box diagram. . \

d to solve |
(v) What is the market signaling ? How canl it use

1ting
the problem of adverse se_lect1on resu

asymmetric information ?

from |
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(Alternative question for visually / hearing impaired

candidate only) :

Explain the concept of Price Signalling and Price

Leadership in Oligopoly. (Ph,7%)
OR

(a) What are public goods ? Explain the Free Rider problem
associated with- such goods.

(b) Define Production Possibility Curve. How can it be
derived from the production contract curve ? What does
its slope indicate ? (7%2,7Y2)

(%) ot A avw A e ¥ R g @ vl
wHifT |

(%) O ST o A 2 7 s A # R

T @ B T A ove W ¥ @ Ry v ¥ R
HehaT B 7
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2. Attempt all questions exercising the available internal
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) Under what circumstances court may lift corporate veil

1. (a .
of company ? Explain. (5)

Define Private Company. What are the provisiong

regarding conversion of private company into publjc

(b)

company ? (5)

(c) Discuss the process of online registration of a

company. (5)

OR

(x) Explain the concept of separate legal entity citing suitable |

case laws. (5)

(y) Define Producer Company. Discuss objectives of such

©)

company under section 581B.

(z) Discuss the legal position of promoters. What are duties
Q)

of Promoters ?

() mqﬁmﬁﬁﬁwmaﬁﬁnﬁumwm

? 7 U I |

(=) ﬁsﬁmﬁmmlﬁﬁmﬁmﬁ“‘w

¥ e B W@ & B 7
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AAdr

(37) IGTH HE HEA H I T Y e denfen e’
T FAURT & ARAT HIT |

(@) ITEEF FE F IR ST | urr 581B & S T
T T IeId St EReEr FA |

(®) a9 Y Ry 9 = S | Yadel & S

e 7

(a) What are Pre Incorporation Contracts ? Discuss validity

of such contracts. (5)

(b) The Articles of a company contained a clause that Elley
would be solicitor of the company and would not be
removed except on the ground of misconduct. Later on
company removed him. He brought an action against
company for breach of articles. State whether

Company’s action is valid or not ? (5)

(c) Discuss the provisions of alteration of situation clause in

memorandum of association (MOA). ®)
OR

(x) What is misleading prospectus ? State the remedies

against the directors of a company. (5)

P.T.O.
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(y) Discuss the provisions of buy back of shares.

(5)

(z) Define forfeiture of shares. What are the legal effects

of such forfeiture ?

(5)
() - ey ¥ 7 R e oA Aenree =
IR |

|
[
\
|
\
[

() st ¥ v Suaed At foh et (Elley) @t wr |
AT B 9o IWHE "AE @ FAr TR S /e wemn
ST | AT O S g A | e SRR & ;‘;
g srafod & WU & Raemw sRew o I s

T T € SRaE [ qem @ oar @ 7

() WWW(MOA)%@%W%M%% |

YEEA T G R |

HAAdr

() v uF A o 2 7w @ FRw @ aeE

A |

(@) s A aw we (Buy Back) %WWWWI

(@) o A v R o A | W o AT T

F BT B 7

5

(a) Explain the doctrine of indoor management. What are

its exceptions ? (5)
(b) Write a note on independent director. (5)
(c) Explain legal position of directors of a company. (5)

OR
)

(x) Explain the procedure of removal of directors.

(y) Write an explanatory note on “Voting by Postal
Ballot”. (5)

(z) Explain the provisions regarding appointment of Proxy
in AGM. )

(%) siae (Indoor) Werdr & R@r< = RE FIRE | TR

JuaE =T 7
(=) v e PRwew W g Rl o |
() e @ T A Juitiew Rafy @ smen T
3terar
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(@) “dree doe T AT W TH AT R Ry | orn
|
(@) AGM ¥ WRTR A FaRe @ wauer o |
T R | e ol Rl
|
4. Write explanatory notes on following : } (¥) Iy 99
J
(a) Shelf prospectus (%) SrEERR GBI wen (DIN)
1
(b) Licensed Company | &) T FEE - o
(c) Small Company (5x3 |
X |
, );5. (a) Explain the provisions of Depository act, 1996. (5)
OR
(b) Explain the process of book building in detail. (5)

Write explanator :
y notes on following :
(c) Can dividend be declared out of reserves ? Comment.

(x) Illegal Association | &
(v) Director Identification Number (DIN) | R
(2) Nati | in the provis:
) National Company Law Tribas] (NCLT) (5x3) | (x) Explain the provisions regarding auditor’s appointment
i and their rotation. . (5)
Feafciee w =aremer ewfomr forRam - ‘

| (v) Explain the grounds of compulsory winding up of a
‘, company. (5)

(F) P (Shelf) Mrerees
(@) vl ey

(z) What is meant t.Jy extra ordinary general meeting
(EGM) ? Who can request and call an EGM ? (5)

() o - ‘ :
. IR () Rafved sfafem, 1996 & weum @ aoig i |
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